i L BHHEXWD8 dog 1% ore e | vz | T | L0 | £8 20+Ug+eJgaelf/ LVT LYT | LYT 8T L T'/w exasHIweNT|
* 44 BHHEXMDY dod 1% 0€e 143 Ze | T | L0 | 49 Tuyr+aeff+elsumgg 89 89 89 T€ € 7/w exaoHIWeNT||
i AN BHHEXMO8 dog 1% 00¢ 8¢ T [T | 20| 279 Ug+3UK+9€D0T G’ S‘e Se 6€ o€ 7'/w exaoHIwent)||
* 91 BHHEXMOS dod t 00¢g 8¢ | oz | Tt |sL0] £S a€J0T ¥/ v Al 9¢ 0¢g T/w exaoHIweNT |
* ST BHHEXWDE dog 1% 0) 774 0z LT [T | 20| 9t aVE+8EI0T 0‘s 0‘s 0‘s LT 0¢ T'/w enaoHIWeNT| |
% LT BHHEXMOE dod {7 68T 9T | ST | T | £0 | 1P 8€D0T 9C 9z 6C 44 0€ /W exaoHiwext|
* 4 BHHEXMOS do4g 174 58T 91 YT [ T | 80 | 6¢ | gdn+ony+aTNzaedg 9C 9C 9C 6T 0¢ 7'/w exadHIweNT|)
* 9T BHHEXMOSE dog 4 0T¢ 9¢ | 6T | T | 80 | £§ €01 9¢ 9'¢ 9'c 8T 0¢ T'/w exnaoHiwenti|
% 9¢ BHHEXWOg do4d v | s8¢ 9z | 0z | T |SsL0]| 4s €107 67 6 6'v 0T 0¢ T/w exaoHiweN'r||
* €T BHHEXMOE dDg 12 Y4 e, .02 ). 3 LS0. | 7% 9€JE3VK/L 0 7’0 ¥'0 6 0¢ T'/W eHAOHIWeNT||
* 8¢ BHHEXMOS dog 1% 0S¢ 8C | CC | T | L0 | 2L | SUBHIUN+UNGEEIE8EDY | +'T T v'T 1T 6¢ 7/w exacHwent|
+ S¢ BHHEXMOE dog 12 S/T 8z e N kLG T 99 €1TaTINZaED . 9c 9'c 9‘c ze LT /W exqoHIweNT||
* L BHHEXMDE do9g 1% GET v1 2T (¢ | L0 | s8¢ ITINTIVKYEEDS L8 L8 L'8 €9 4 /W exaoHIWeNTI|
* ¥T BHHEXMOE dog 1% S8¢ ¥z | 6T | VI | 80 | 1§ 8dh7parKgg 0T 0T 0T 6€ Sz 7/w exaoHiwent| |
* 8 BHHEXMDg dod € STe 9¢ | ¢z |z | s0 | ¢«8 IVK+8EI0T L'L L'L L7 S GT 7/w exasHIweNT[|
¥ L BHHEXMO8 dod 1% 59 8 L T | 80 ¥4 ugzaslg T T T T4 0T 7'/w exaoHIweNT |
* 3T BHHEXMOE dod P 09¢ e | oF. |vr. | 2’0 | 8% 8€J0T 90 90 90 9z 0T T'/w exqoHIwent)|
. 9 BHHEXWDS dog ¥ 06 ZI 6 T | 80 | 62 3VKTAED6 €6 €6 €6 4" 0T /W exaoHiweNTI]
8T LT 9T ST v €T ¢t | IT |OT| 6 8 L 9 g v € [ T

il o @ w O

o - s B = & 2 o

< 0 o = o D

TEFISTE s |2 22 |3 7% = T

m m Y|l< © F = =) I} o T = = o = 0 w o) fa 3 o)
T |@ S I T w 3 = = T a1 = O g ¥ o 2 2

Qi |l T 5 w < w |m o I ) ] m = = W S o .m 2 o

x & 3 W S o L 4 o3 =: .W =} @ x T = = < = S @ T Aw,_.:STOn_\C

Ixo|lzs e S 3o Sa |w (50 2 = |3 o L) Q o 3 o 2 9 x

233|065 =3 T T - A i 3 = o B z B @ = oaLfnHII|f
® 212 5 © T @ 9 s o — a £ S B =

=53 F 8 2 e g [ |7 ok =31 e

X333 2 s |[&8 | &g F 3 >

o ® I = 2

= o @ o O oHTI80UT1a BHHIKTRORH BXMLOMdaLsedex eHrINeIYEL BXLOdO) emovuy]

Kt

WOIAURKe ], LLIIHO 0104908189)r dIvaridre], LT AwoxadaiYodg ou
giJIlf AHVLD OJOHdVYLIHYD BHHAMUIYOU € 91T70XVE

OIANITOIOL

KO 010390184 |f HUHALLE!

Hilrad3au

V'] UMHADFOHIDK

8T0¢C




* 41 BHHEXMOE | (09 € | 0T [ 0T |4t | €| 90| 82 8€J0T €0 €0 €0 r4) 143 7/w exaoaiFodq
* v BHHEXMI8 | 4D € | OLT | 0z | 4T | € |S90 | 8L 8€J0T 0 70 0 0T 1742 7/w exaogifodg
* 6 BHHEXMO8 | (09 ¥ | 00c | oz | 8T | T |ss'0o]| 8s 8€J0T L0 L0 T'T | ¢+0€ | Of /w enadg)rodg
% T BHHEXMI8 | 4D v | OT€ | 8Z | ¥Z |VvI| 90 | 89 8€)0T €Y €YV €Y 8¢ o€ /w exadgirodg
i €1 BHHEXMD8 | 409 € | oveE | 8¢ |z | T | 20| 89 hUg+8€J0T L'y L'y LY LT o€ /w exadgirodg
% ST BHHEXMOE | 4D ¥ | 0S¢ | z€ | vz | T | SO | 8 8€J01 €C £C €7 6¢ o€ T'/w exqog|7odg
* 1 BHHEXWOE | dDg v | 01c | 0z | 8T | T | 90 | 65 8€)0T v'T v'1 0T | zx9Z | o¢ /w exdogifodg
* 8 BHHEXMOE | dD9 v | 082 | 8¢ | zz |vr| 90 | 29 8€)0T 8's 8's 8's St o€ 7/w exassirodg
* 6 BHHEXMD8 | D9 € | o€z | vz | o0e |9t | 80 | sv UgThUgEaedg SET.. | 2o | eleT A 6¢ T/w exqog|vodg
% Tt BHHEXMOE dod v | olz v | 6T | VI | 20 | Lp 8€)0T 't oL 44 8¢ LT /w exqosivodg
* A BHHEXMO8 | dDg v | 06¢ | 8 [€z | T | 90 | 8L 8€)0T €C € €C 7¢ 2e 7/w exdogifodg
% 14" BHHEXMO8 | 408 | ¥ | 0sZ | 8¢ | 12 | z | ss’0 |8s‘ss (85)a€Dz(88)e08 6'S 6'S 16 8¢ 8 /W exadgirodg
% L1 BHHEXMO8 | dD9 | ¥ | Oobz | 8Z | 12 | ¢ | 90 [89¢8 (89)8€05(z8)eeDs 9'¢ 9'€ 9'¢ o1 8 7/w exaoairodg
% L BHHEXMO8 | 409 € | 0T [ or | vT (2| 20| 8¥ 8301 €T €1 €T 44 9T '/w exaoa|odg
* ST BHHBXW28 | dDg v | 09¢ 8C | €c | T |Ssto]| 1L hUg+8€[f+8€D0T €C € €C 1¢ 4 7/w exadgiFodq
* 0T BHHEXMJ8 | dDg ? | 00€ [ OC | 6T (VI | 80 | 1§ adhr+8€30T 9'¢ 9t 9'¢ T T /w exaosirodg
* 6 BHHEXWOg dod € 062 vz | 0 | T | L0 | 8S a€)0T v'e v'E v'E 81 S 7/w exadgivodg
* 1T BHHEXMIS | dDg 17 01Z 8T | 9T | ¢ | 2'0 | €9 8€J0T q‘g S‘g q‘s 9 S 7/w exadg|vodg
* vT wouwadAg | dog v | 00€ | 82 | €¢ [ T | 90 | 88 | ug+sep+hrgro0Z8e). | B2 a4 9‘¢ 749 S /w exadgirodg
% 6 BHHEXMOE | 409 v | ove | vZ [0z [ 2 | 90 | 18 €07 S'€T G'€T | S'€T 9T T /w exqoaiFodq
* 8 BHHEXMOE | 409 v | 0¢¢ | 8T | 9T [ T [s80| sv hg+8€J0T 3 T 7T € % /w exaosiodg

0'9€T |09€T  |¥'89T ?/w L] ou o10d0g
* 4" BHHEXWO4 dog € 08T 0C | 48 | B [ £0 | X% 8dh7+aUB+8ET0T T'E T'T 11 6 T4 7/w exaoHweNI|)
% v BHHEXMOE | 404 17 0z1 9T | ¥T | T | 20 | 6¢ WK+ITNEadRTTL v'e e v'e 6T Q¢ /W exaoHiwen|
* 8T BHHEXMO8 | (D¢ v | S8T | v [oz | T | 0 | /9 EBHIUNZEIPAETY LY L 4 L 6 LT /W exqoniwent)
% 1T BHHEXMIE | 409 b ) OSL: | 8t |.ZT | & | 20 | 7§ EBHIUN+EIOT 0'6 0’6 LST | Tiw . #1 7/w exaoHiwen||
* €T BHHEXMO8 | dDg ¥ | OST [ 9T [ 9T |2 | 80 | TF €J0T 8T 8T 8T € vT T/W exaoHIweNti||
* 4 BHHEXMIE | dD4 1% T4 9T | ST | € |SZ'0| v UAG+IUHZELS ST ST ST T 74 7/w exaoHiwex T
% 12 BHHEXMDE | 409 v | 0ZT | 8T | L1 | € | 90 | £9 UHG+E10T ST ST ST LT 9 /W enaoHiwen |
% 0T BHHEXMOE | dDg v | OVT | Oz | 8T | € | 90 | 29 Iry+8ef+ugTel6 A 2'c ¢ic 0z 9 /W eXHIWeNTI||
* €T BHHEXMO8 | 409 P | SST | 8T | LT | € | £0 | 29 | ug+wmig+sef+8€d1€16 | O'IT | O'TL | OIT €T 9 /W enaoHIweN |
% 91 BHHEXMO8 | dDg ¥ |09 ) 8V | 80 | € | #6° | 2o ING+TU| ZE 8C 8'C 8C 8 €T /W enaoHiweN |
* 9T BHHEXMOE | 409 v | S6T | 92 | 0C | T | £'0 | £9 | eg+wy+Tuytelpsinas | o' 06 0TE | €49 | €T /W BNIDHIWRN T
8T LT 9T ST vT | €T ZT | IT |OT| 6 8 L 9 S t € ra I




doaduy

‘dgT0T %&»N\Q w UMAHGDHUAN O “IN"]
. 8'66¢ | 8‘662 wosged

8°€9T | 8'€9T | €69T 7 /w *dg ou otoaog
¥ 9T BHHEXMOE | dDg v | 09¢ | 8¢ | z¢ | ¢ | 90 | €8 hUg+8€J0T 0's 0's 0'S T 4% 7/w exqoaiFodg
¥ (0)# BHHEXMDE | 409 v | obe Z€e | ve | T | 90 | ¥8 8e/+€179€D8 6'T 61 6T €C 44 7/w exqdsg|Fodg
* 1T BHHEXMO8 | dDg v | 0S¢ | 8¢ | ¢z [ T | L0 | 89 9€J0T ot Zor | Zot 8 €2 7/w exaogirodg
* 8 BHHexMO8 | dog v | 08 [ ¢e | sz | T | 0| 8L 8€)01 0T 01 0T €T 2z 7/w exaoairodg
% 6 BHHEXMOE | dDg v .| ‘oce |18z | .z | T | .£0%] ‘g9 8€7+8€J0T €9 €9 €9 0z 1€ T/w exqos|odg
¥ L BHHEXWOS dod v | ove 8¢ | € | VI | L0 | 89 8€J0T 'Y (47 v 01 1€ /w exadairodg
4 BHHEXMIE | dD9 v | 0£¢ . |.¥¢._|.B6Y |2l 26" 99 8€J0T ST GT ST 6 1€ 7/w exadaifodg
¥ TT BHHEXMIS | dDg yll.ogel [ igg. |.'og"| ] 80 | L8 £J+9€7+9€D0T 9'T 9'T 9T 9T 153 //w exqdsiodg
% 6 BHHEXWOE dog v | 0S¢ 8¢ |1z | T |80 | €9 8€J0T €T €T €T Y4 1€ 7/w exqd8irodg
% 9 BHHEXWMDE | dDd ¢ | o9t 9T | ¥T | 9T | 80 | €€ 20+8£7+adhiTyaed9 S0 S0 S0 8 S€ 7/w exnqosiFodg
* L BHHEXMO8 | dJg € | 08C | vz | 6T | VI |SLO| 8F OHY+EET+8EDQT 8'C 8'C 8C 9 13 T'/w exaqog1odg
* 6 BHHEXMO8 | dD9 v | ovE | 8C | €2 | VT | 0 | S9 8€J0T 8€ 8¢ 8'c 0z 6€ 7/w exaoaifodg
i L wovadAg | ddg | € | o6 | oz | 8T |vI| z0 | ¥ aeff+hugy8edg v'T v'C ¥'C 0z | 8¢ 7/w exqdg|rodg
* 8 BHHEXWDE | 404 € | ove | 8¢ | €T |VvI| L0 | 89 SE[7+a€)0T Sy Sy Sy 1T 8¢ 7/w exqoa1rodg
* 6 BHHEXWMI8 | 404 v | 067 | 8T [Tz | T |S90| 89 aeJ+hUrgTa£D6 0C 0T 0T € 8¢ 7/w exaosiodq
* L BHHEXMOE | dDg ¥ | 09z | . ¥2. |61 |- T | £0| 6S 8€J0T 79 79 79  ; 147 7/w exqo8iodg
* z BHHEXMOE | dDd g1ore . e et 90| ~L8 8€J0T 9y 9'y 9y 0T 187 /w exaoairodg
* L BHHEXWOE 409 v | 08¢ 8T [ 41 [ T |S80| 6S 8€)0T S0 S0 S0 01 rA7 7/w exqosifodg
% 0T BHHEXMO8 | 409 v | ot | 8T | 8T [ T | 90 | €s 8€J0T €C €C €T 4 (474 7/w exnqog|rodg
* 6 BHHEXMOE | dDd € | 00 | ¥Z | 0T |VI|SL0]| €S 20+Ug+8£)0T 00T | o0 | 00T LT 9¢ 7/w exaoairodq
* 8 BHHEXMOS | dDg € | 09T | ¥T [ 2T | T | 80 | 1Iv 8€J0T L7 LT LT €1 123 /w exqogirodg
% L BHHeXud8 | d0g € | ovT | 9T | €T | T [S90 | 1V 8€J0T v'T A 7T 6T 143 7/w exqogirodq
* 6 BHHEXWMOE | dDd € |.ove | 8z | ozl T | 90| 8 8€J0T T LT LT 8¢ ve 7/w exqdeiodg

8T LT 9T ST vT | €T ¢T | IT |OT | 6 8 L 9 S 4 € r4 T




